113 B E 2B S ek PR RIS (113-E1)

FEEE5 - BIEE(E 85 47) 5 RA1102
— ~ BE3EEE(5 30 4)

L SH S D EEEOCHE x+5]+x<5 ()0 (4 ()5 )6 (5) EEH[H

2 BB a bEE b=loga H 1<a<10- 3x=22tP ,_3+30 _a+sh g

3 4 6
Xy oz Y RUNER R Rl 2
Q) z>y>x (2 x>y>z (3) x>z>y @) y>z>x (B) y>x>z

3. E13% ~1.55,3°% ~1.01 » HI 3V feir T 510 {Eseg 2

(1)26 (2)35 (3)47 (4)51 (557
4. SHIER T (x) = (X =D(x* = 2°)* (X" =3 (x* = 4°)" » AIZIAATIRE T (x) = 0 AYEERS x
> ERHY 9 (EFAER T - 5 2%/ ERa A A 8 f(X) AYEALLE 7 (GE © A SlmhiHYERH
A RoBAlE R - FA0(2,3)AFR 2<x <3 > (3, «0)ftF x>3)
M1E @248 ()3 4)4fE (5)51(H
5. FNECER EAMEFER 1 BRI ERE
> EELOITATR(2, HFI(L0, 2) - FHENEE
FEEEDIELR Loy = mx(m > 0) Syl AR E]
PRELE Ry 2 ELANH i 21 (B P Bt/ i
(*Etﬂiﬁﬁ‘bﬁ i) - 'J m T%T?Uﬂﬂﬁ{léiﬁ

7 (1) § @1 @ Z (4) § (5) 3

6. A5lELE y = ax? + bx + cHETY - Jﬁ%%%x:% BTE (Y

B A AR ax+by+c=0 7 (BIETHVERHELR Y=X)
@ (2) y (3)

V




=~ ZEREE(E 304)
7. 52" B3O A MHERAIE - Al n AT TR 7 ()12 (13 (314 H15 (516
8. QG > R—TRERL Ry 3 VIR AR E N —RIATE /& 5 Y
IEGPEAR L 5/ NETTIER BRI R IR PavE £
BEHRF AR TT AR INE TR 5 Bk 4 =RV E A = AP UK
VEIEAPONETT) > sl e B -
(1) =APRHHRE - ITHIE 3
(2) —APMRERENRES Q) =APRARERER 2
4) —APHmERER 1 (6) —APHkREMZE 1

o W MESL LEFRRSEL~+I=-1  » , 3
a b L1:7+T__]
Sy m= e BUSEHIBE R IEAE - \ N
()a (2)c (3)ab (4)cd (5) EJF% O\ X

10.E 41 =R 23 + 2(k — 6)x% — (3k —16)X — 2k > O {fife s X > 2 » ShisEHH AT AE 2 K {EHysE
He (D2 (24 (36 (48 (510
LLBERFSE R 2T X2 + y2 —AX— 4y + 6 = O Y BF BN (x, y) » St IERENYIEIE -
Q)X +y FRAMERE 18 )X +y HR/IMEEV2
Q)EH 34 4H(x, Y)EE X + y* BEs  (4) %ﬁ%ﬂ% 1 (5 %ﬁ%d\@%z—ﬁ
12.% f(X) = (X+1)° =3(X+1)* + 2(x +1) +1 » {358 ) (E Y358 T -
(1) f(-0.999) HUTPME(HETLAZERE M) AL (2) y=f(X) BERAVETRES0 R (L)
(3) Ry = f(x) EIAE TR - BIHL x A —(E< S5
@) f(x)=(x-1)°+3(x-1)*+2(x-D+1 (5) y=f()Ex=1fFarI—2T ey =2x-1

=~ BEEE(S 25 47)

13 AT By 11+ 682 HYAETE > ELRRATEME By m o+ 16 m DU T A Z BB i 4 A
B °

14 EEFHE =R ZIER, T (X) = X +ax® +ax+alibl x+ 181 f (x) BRDL X + x + 1A EEER
AT fO) BRDAX+28y8R=0k_

15 /5P AV E SR ax+ by = 0[5 F-1% 1 BEAr (A BPR8 2 Bfirfk - BARURRYE SR IG YT
B RIFTPAT B 458 ax+ by +a = 0 BB 45 ax + by —b = 0 [ PEEE & °
(B Ryl 720



16.5% f (x) B EIRGER 1 WEGRB=RZHEA - SRR EE EARHA
ft-D=-f@-t)  Hf@=10) A fH=____ -

17 8P HE LA —EC: (x—k)* +(y+k)* =k*(k #0) » FIE C _LAVEL(X, y) B2
3x—4y-12<0 - RFmie i FRIEE k 5Ky °

FRET L REEEIEREE (S 15 77)
18-20 Byl
SEE AR R A4, 8) > B B(10,6) - %5 C(0,—4) =%k » f—@hkE D - H[E%E M -

18. FPH FA—HL L B4 L FAVEIEL P(x, y)&HE PA=PC » HIEZE L Y52k
o (EHERE - 4 47)

19. F58)%5 D i/t AD <CD - HIFI/fa] & el FyBhBs D (fAAHE 2 (BRI > 3 43)
1) <13 @ (-12) (3)(1.2) (4 (-10,5 (5 (-10,4)

20. SARLUHE AD < BD 2 i D B[ELL » 575110 BD Al AD BFAE(EIE > ({585 C fERE
ZE(EETEE EAVEN) « sRE x>0 H y > 06F » Bk D AT ki@ iskinifs -
(FREEERE - 8 47)

SEEE ¢ 2 ~1.414, 3 ~1.732, 5 ~2.236, V6 ~2.449, 7 ~3.142 -
PS¢ log2~0.3010, log3~0.4771, log5~0.6990, log7 ~0.8451,log9 ~ 0.9542 -



RA1102 113 BEE2FHE K HEE AL (113-E1)

SEEE
BEE:LOG) 22 30 40 5@ 61 7.3@0G 8(1)O)
9. (HEMA)B) 10.((3) 11.(M(B) 12.(1)(A(OE)
\5

MIERE : 13.18 14. -2 15, 3 16.24 17.1

BERE 118 x+3y-8=0 19.(1) 20. %



